&

18003 @Gﬁ@@lﬁ@@@ - & Rozb)
B0 w0 gRLIR) efmn endins

Bgnoell, (e0®m) cendd ¢88e sliveas @980) - 2016 (0 Siedens)

2022 esdcs
Bexo Badwo

O18O®HIB v &Hme
AMAT E 2025 - wo@xisi®m Bdecseic

gl wEmd (06) 0w 88ad vowmsis.

g6 ton00 1 08 8. 89 eodnd | 04 G, DICH 1 e 3 &
1. (&) 01008 scie OO WO wBS weo § oo Bbe owde akndd Bdund wods.
(@) x~10688 p(x) =x®~x2+x~1 eaR® veen o-dege OB sosy. gito
wew e? p(7) omon oode.
(r) oo @88 A%y, ow Aty, soxe sose.
(o) 200 BeOB Sduos aoose.
Y 0 T, ......Im. TN 0
Ayk TP [T, e aeeanes e
Azyk 0 -2 0
@ f)=e"ol 8@ x;=1 00 poxme oom @ eobo edgh SuEco e
eOgh Bueco wdoens ¢~ " P ossnbaie oo,
| eele eclen | < 5% 107000 ecdoss,
2. (@) () fila,b] = R oo 8858 Buns | ovo Bu858 Buer misn modes

ol Beb8 geond oodes o ¢?

() [a blosnce oo Le@sS ssbose [ Gocd ondodaot Bed =8, 850

fGor S80S Buwow L obo ge8dd Bots @mitn ©ow @I 0O
sonibals,



{en)

3. (a)

(e)

(an)

4. (a)

(o)

{i) e H50 maw) § aooes

n"m(}i“t 1 " i
i azcans arce 11239

we  ebbmessnd geoiwes wg ow 1077 w SoPesmPepd W
effnbedks 600 ses Suy De o ©e, e BBio mos.

(1) oo &S 83gw n = 1ecw {a,) oo {8} oawe a, = n—-}-l? o

B = %:;—3 odd Odoo wodes wB Bwg{a,]) cawnes Depo gBed Ded

1
Gaodoe {;} g0 gBmd D0 oow o guwebE {§,] BeH0 gBwdde

1 _
o eBwaced {,;Té} aBod 580 ob 90 easiDoe.

[a, b] eoon we & f(x) = 0 gemoed ebSo emdn oBmoghen mede Boe®
22Beden pon 886 eows GWon clends Bdno wosl,

f€Cla,blow f(a): f(b) < 0wid ©88. p va [a,b] ge &b f 6 Qoo wite
{pn} o8 ooBeden gon 068 vonn 8o p O neBBbEKG VO O ©F edind
wide, e,

lpn — pl < %:,13,11 = 189 esdodgs,
[1,2] oo g o008 x5 —x~1=0 & Segess 1072 8808 B o0

oafimbaedin S080 gdbes BebO ©and mes abosoos e @iHeD gom (&)
D) Ok,

B8R BobermDn 6B Ben ended s8bedesm Yoo WHBW) o,

Ben® n Qo BJges ogo (X, ¥o), (X1, Y1), o, (Xn, V) comses (n+ 1) oo
oodedote Do B50ded gED adud auw P, = ?:n (’:’) Aiyg 084 ecyn oo
20 eceibdes.

goo 5006ed puend Buds ommibo ehods.

Suedosnd...




1 Y
(er)  y == o fm@ 2" dt Goend gooss eow Bueds eom e,

X 0.30 0.32 0.34 0.36 0.38 0.40

v 06179114 | 0.6255158 | 0.6330717 | 0.6405764 | 0.6480273 | 0.6554217

y(0.316) omac 808 age B00des gER adond guo wdm o,

5. (e (i) f(x) = 0, 608 e Bbwed aBndem 0@ ewds Joed oo oem
8006l - Glded pue «0gh apmen mdnecs g@xoeen.

(i) flx) =x*~8x? ~200x + 100 6 60 g Hbovas 66O Q€
8208 - ddnsd pio @fio nos. X, = —6 egs eme BDO BmE GO
Bl

@) A oo F oo modoses con acwel agds gbd edon ged. «08 h oy
peind gdndn b,
Af(x) = fx +h) = f(x), Ef(x) = f(x+h).

(i) A™sin(a + bx) = (2sin -E)"sin[a + bx + 2 (b + m)| 90 endosm,

AZsin{x+h)

E sin(x+h) ae® ’

Az,
(i) —Esm(x + h) +

6. (&) z—i = f{x,¥) y(x) = yo aomg odmonn SoBed st o ccde nwed Geed-ndd
Do 8duo woelm,
(&n) ev@rms godme odnom Sofedt «Jeh weed ooy trsded-ld oBowomde DHBG Qee?

(es2) 3—1 =y~ X gome odnotwend x=080 y=2 il £ yidnd, ccdo voed Sued-9id) wdn

oo emd x=0.2 oo x=0.4 80 y 8 auw eoxsels. Bodo Ew h=0.1 ego @,
(er) poor ObE £80wens Bdedd Bog® v =x + 1+ e* o0 cododm. x=0.2 € sm x=0.4

2 Bewt Bnp® ek, 890 guw (g7 £6dg oo oscem.
Snodasiad...




7. (&) DBghed eBmin QOO Vi1 = Yy u{w%h(yfc + Vi) 89 56 8080 edie velen

©a) welsy,

{en) ¥(1.05) ene0 y' = i/;x, y(1) = 1 oroneo aBgbed b aoo ewmesk.

[Bado Ev h=0.05 sge @i,

(&r2) GO QWD Viyq = Yyg -+ gh 2 Yi—z = Vi1 + 2y1) 8 S08ie eglo

ecfew (£, ) ewnde.

et} BOIOEMOD @G Vi4q & Vi-q +§h Ok-1 ¥ 4¥i + Yiyn) b, oo d050

egle eclew E, mic w&g, B, = —28E, 00 cagode.

8 (o) 920 Lo Fedblo vy mbue?
() Bge O o ahud Bbo BE=es Bem 88008 Oywodes o,

() omo cewes cdo ocm ¥V = ax” pmoed Goos aaba® nodee.

X 2 4 7 10 20 40 60 80
y 43 25 18 13 8 5 3 2
............................. 2lofelo]




